	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR											
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School			
1	311301222	Abdul Tawab Haikal Primary School	South	BO District	Tikonko	Samie	610	10000	6,100,000			
2	319103274	Agape Way Christian Primary School	South	BO District	Kakua	Bo Kenema Highway	380	10000	3,800,000			
3	311401201	Ahmadiyya Muslim Primary	South	BO District	Valunia	Baomahun	822	10000	8,220,000			
4	310702210	Ahmadiyya Muslim Primary	South	BO District	Jaima	Koribondo	341	10000	3,410,000			
5	310202206	Ahmadiyya Muslim Primary	South	BO District	Bagbo	Levuma	203	10000	2,030,000			
6	310502209	Ahmadiyya Muslim Primary	South	BO District	Bumpe Ngao	Makayoni	215	10000	2,150,000			
7	311401218	Ahmadiyya Muslim Primary	South	BO District	Valunia	Mandu	221	10000	2,210,000			
8	310201205	Ahmadiyya Muslim Primary	South	BO District	Bagbo	Momajoe	338	10000	3,380,000			
9	310503217	Ahmadiyya Muslim Primary	South	BO District	Bumpe Ngao	Walihun	264	10000	2,640,000			
10	310403210	Ahmadiyya Muslim Primary School	South	BO District	Baoma	Baoma Gbandi	122	10000	1,220,000			
11	311401209	Ahmadiyya Muslim Primary School	South	BO District	Valunia	Kenema Blango	330	10000	3,300,000			
12	311001208	Ahmadiyya Muslim Primary School	South	BO District	Lugbu	Kpatobu	244	10000	2,440,000			
13	310702215	Ahmadiyya Muslim Primary School	South	BO District	Jaiama	Kpetema	212	10000	2,120,000			
14	310402205	Ahmadiyya Muslim Primary School	South	BO District	Baoma	Ndogbogoma	297	10000	2,970,000			
15	310201211	Ahmadiyya Muslim Primary School	South	BO District	Bagbo	Nyandehun	163	10000	1,630,000			
16	311302217	Ahmadiyya Muslim Primary School	South	BO District	Tikonko	Samie 111	562	10000	5,620,000			
17	310701215	Ahmadiyya Muslim Primary School	South	BO District	Jaiama	Walihun	211	10000	2,110,000			
18	319103256	Ahmadiyya Muslim Primary School	South	BO District	Bo City	Yemoh Town	702	10000	7,020,000			
19	319101215	Ahmadiyya Muslim Primary School Lower	South	BO District	Kakua	Bo No2	879	10000	8,790,000			
20	319101214	Ahmadiyya Muslim Primary School Upper	South	BO District	Kakua	Bo No2	1157	10000	11,570,000			
21	319102201	Aladura Primary	South	BO District	Bo City	Musa Street Kennedy Section Bo	602	10000	6,020,000			
22	311201206	Aladura Primary	South	BO District	Selenga	Segbwema	64	10000	640,000			

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR										
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School		
23	319103219	Aladura Primary School	South	BO District	Kakua	Mattru Road	430	10000	4,300,000		
24	419101214	Al-Irrissad Islamic Primary School	South	BO District	Kakua	Mattru Road	190	10000	1,900,000		
25	419101212	Al-Jaleel Islamic Primary School	South	BO District	Kakua	Goguima	213	10000	2,130,000		
26	311301201	Al-Noor Islamic Primary School	South	BO District	Tikonko	New England Ville	351	10000	3,510,000		
27	310202204	Al-Qudus Islamic Primary	South	BO District	Bagbo	Kpawama	152	10000	1,520,000		
28	319103277	Al-Qudus Islamic Primary School	South	BO District	Kakua	Kallon Street, Lawabu	138	10000	1,380,000		
29	319103221	Al-Qudus Islamic Primary School	South	BO District	Kakua	Kendeyama Rd, Gbondo Town	304	10000	3,040,000		
30	319103202	American Calvary Baptist Church	South	BO District	Bo City	Kandeh Town, Kowama	216	10000	2,160,000		
31	310702205	American Calvary Baptist Church Primary	South	BO District	Jaiama	Fulawahun	158	10000	1,580,000		
32	310202214	American Calvary Baptist Church Primary	South	BO District	Bagbo	Niagorehun	266	10000	2,660,000		
33	311303202	American Calvary Baptist Church Primary School	South	BO District	Tikonko	Kassama	230	10000	2,300,000		
34	310702202	Ansarul Islamic Primary	South	BO District	Bongor	Bendu	258	10000	2,580,000		
35	311302210	Ansarul Islamic Primary	South	BO District	Tikonko	Majihun	167	10000	1,670,000		
36	310801201	Ansarul Islamic Primary	South	BO District	Kakua	New London	946	10000	9,460,000		
37	310301219	Ansarul Islamic Primary	South	BO District	Bagbwe(B agbe)	Palima	173	10000	1,730,000		
38	310403212	Ansarul Islamic Primary School	South	BO District	Baoma	Baoma Station	397	10000	3,970,000		
39	310901221	Ansarul Islamic Primary School	South	BO District	Niawa Lenga	Blama Negbemah	153	10000	1,530,000		
40	310502201	Ansarul Islamic Primary School	South	BO District	Bumpe Ngao	Bongor	136	10000	1,360,000		
41	310702204	Ansarul Islamic Primary School	South	BO District	Bongor	Buma	383	10000	3,830,000		
42	310402201	Ansarul Islamic Primary School	South	BO District	Baoma	Buma Sewama	175	10000	1,750,000		
43	311302203	Ansarul Islamic Primary School	South	BO District	Tikonko	Gondama	352	10000	3,520,000		
44	310403202	Ansarul Islamic Primary School	South	BO District	Baoma	Kigbai	177	10000	1,770,000		

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR											
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School			
45	319101239	Ansarul Islamic Primary School	South	BO District	Bo City	Kissy Town	201	10000	2,010,000			
46	311101206	Ansarul Islamic Primary School	South	BO District	Niawa Lenga	Kowa	195	10000	1,950,000			
47	310402203	Ansarul Islamic Primary School	South	BO District	Baoma	Kpakru	200	10000	2,000,000			
48	310701206	Ansarul Islamic Primary School	South	BO District	Bongor	Kponima	191	10000	1,910,000			
49	310803210	Ansarul Islamic Primary School	South	BO District	Kakua	Manguama	227	10000	2,270,000			
50	419101268	Ansarul Islamic Primary School	South	BO District	Kakua	Messima	282	10000	2,820,000			
51	999999999	Ansarul Islamic Primary School	South	BO District	Bumpe	Mowoto	184	10000	1,840,000			
52	310404206	Ansarul Islamic Primary School	South	BO District	Baoma	Ngellahun	154	10000	1,540,000			
53	310901215	Ansarul Islamic Primary School	South	BO District	Komboya	Njala Town	233	10000	2,330,000			
54	999999999	Ansarul Islamic Primary School	South	BO District	Niawa Lenga	Sahn	216	10000	2,160,000			
55	311303207	Ansarul Islamic Primary School	South	BO District	Tikonko	Sembehun 17 Old Town	202	10000	2,020,000			
56	310403208	Ansarul Islamic Primary School	South	BO District	Baoma	Taninahun	296	10000	2,960,000			
57	310404205	Ansarul Islamic Primary School	South	BO District	Baoma	Yakaji	219	10000	2,190,000			
58	310901220	Ansarul Islamic Primary School	South	BO District	Komboya	Yendehun	230	10000	2,300,000			
59	310301204	Ansarul Islamic School	South	BO District	Bagbwe(B agbe)	Buma Samie	382	10000	3,820,000			
60	311303211	Ansural Islamic Primary	South	BO District	Tikonko	Tuba	268	10000	2,680,000			
61	311001209	Australia International Boys And Girls Primary School	South	BO District	Lugbu	Kpetewoma	300	10000	3,000,000			
62	311301231	B.T.C Experimental Primary School	South	BO District	Tikonko	Torwama	692	10000	6,920,000			
63	319103203	Baptist Model Primary School	South	BO District	Kakua	Johnny Layout	339	10000	3,390,000			
64	319102208	Baptist Primary School	South	BO District	Kakua	Nikibu	497	10000	4,970,000			
65	319103265	Believers Covenant Academy Primary School	South	BO District	Kakua	Bo Kenema Highway	474	10000	4,740,000			
66	310801218	Benmat Education Pre & Primary School	South	BO District	Kakua	New York	392	10000	3,920,000			

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR										
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School		
67	999999999	Bilal Islamic Primary School	South	BO District	Kakua	Gangama	285	10000	2,850,000		
68	311301248	Bilal Islamic Primary School	South	BO District	Tikonko	Georma, Samie 111	350	10000	3,500,000		
69	311301254	Bilal Islamic Primary School	South	BO District	Tikonko	Mendewa	280	10000	2,800,000		
70	319103317	Bilal Islamic Primary School	South	BO District	Tikonko	New England Ville	408	10000	4,080,000		
71	310801231	Blessed Academy Primary School	South	BO District	Kakua	Gbanja Town	213	10000	2,130,000		
72	311401207	Bo District Education Committee Primary	South	BO District	Valunia	Gumahun	105	10000	1,050,000		
73	310702207	Bo District Education Committee Primary	South	BO District	Jaiama	Jomborhun	35	10000	350,000		
74	311501203	Bo District Education Committee Primary	South	BO District	Wonde	Kambawama	325	10000	3,250,000		
75	310901210	Bo District Education Committee Primary	South	BO District	Komboya	Kundorma	130	10000	1,300,000		
76	319103205	Bo District Education Committee Primary	South	BO District	Kakua	Messima	823	10000	8,230,000		
77	311401220	Bo District Education Committee Primary	South	BO District	Valunia	Monghere	120	10000	1,200,000		
78	311401224	Bo District Education Committee Primary	South	BO District	Valunia	Nyandehun	139	10000	1,390,000		
79	311301227	Bo District Education Committee Primary	South	BO District	Tikonko	Tikonko Town	300	10000	3,000,000		
80	310401210	Bo District Education Committee Primary	South	BO District	Baoma	Tungbebu	275	10000	2,750,000		
81	311002218	Bo District Education Committee Primary Sch.	South	BO District	Lugbu	Yambama	329	10000	3,290,000		
82	311501201	Bo District Education Committee Primary School	South	BO District	Wonde	Bathurst	310	10000	3,100,000		
83	310201201	Bo District Education Committee Primary School	South	BO District	Bagbo	Bum Kaku	229	10000	2,290,000		
84	310501203	Bo District Education Committee Primary School	South	BO District	Bumpe Ngao	Bumpe	262	10000	2,620,000		
85	310501206	Bo District Education Committee Primary School	South	BO District	Bumpe	Dassamu	308	10000	3,080,000		
86	311301205	Bo District Education Committee Primary School	South	BO District	Tikonko	Dodo	92	10000	920,000		
87	311501320	Bo District Education Committee Primary School	South	BO District	Wonde	Fanima	200	10000	2,000,000		
88	310501208	Bo District Education Committee Primary School	South	BO District	Bumpe	Foya	165	10000	1,650,000		

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR										
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School		
89	310801237	Bo District Education Committee Primary School	South	BO District	Kakua	Fulawahun	1032	10000	10,320,000		
90	310404201	Bo District Education Committee Primary School	South	BO District	Baoma	Gbahama	86	10000	860,000		
91	311501202	Bo District Education Committee Primary School	South	BO District	Wonde	Gboyama	408	10000	4,080,000		
92	310401220	Bo District Education Committee Primary School	South	BO District	Baoma	Gondama	135	10000	1,350,000		
93	310701204	Bo District Education Committee Primary School	South	BO District	Bongor	Hegbema	90	10000	900,000		
94	311401208	Bo District Education Committee Primary School	South	BO District	Valunia	Jallo	195	10000	1,950,000		
95	310202203	Bo District Education Committee Primary School	South	BO District	Bagbo	Jimmi	194	10000	1,940,000		
96	310702209	Bo District Education Committee Primary School	South	BO District	Bongor	Kandor	275	10000	2,750,000		
97	310301210	Bo District Education Committee Primary School	South	BO District	Bagbwe	Kowama	51	10000	510,000		
98	310404212	Bo District Education Committee Primary School	South	BO District	Baoma	Kpetema	200	10000	2,000,000		
99	311001210	Bo District Education Committee Primary School	South	BO District	Lugbu	Kpetewoma	305	10000	3,050,000		
100	311501209	Bo District Education Committee Primary School	South	BO District	Wonde	Kpuawala	143	10000	1,430,000		
101	310702201	Bo District Education Committee Primary School	South	BO District	Jaiama	Largor	175	10000	1,750,000		
102	310202207	Bo District Education Committee Primary School	South	BO District	Bagbo	Limba	300	10000	3,000,000		
103	310401206	Bo District Education Committee Primary School	South	BO District	Baoma	Maina	200	10000	2,000,000		
104	310702217	Bo District Education Committee Primary School	South	BO District	Jaiama	Mano	226	10000	2,260,000		
105	310202212	Bo District Education Committee Primary School	South	BO District	Bagbo	Mattru Bagbo	165	10000	1,650,000		
106	310701211	Bo District Education Committee Primary School	South	BO District	Jaiama	Ndombu	106	10000	1,060,000		
107	311101211	Bo District Education Committee Primary School	South	BO District	Niawa Lenga	Nengbema	250	10000	2,500,000		
108	319101255	Bo District Education Committee Primary School	South	BO District	Bo City	Ngieya Road	300	10000	3,000,000		
109	311501205	Bo District Education Committee Primary School	South	BO District	Wonde	Niagorehun	168	10000	1,680,000		
110	310901214	Bo District Education Committee Primary School	South	BO District	Komboya	Niagorehun li	209	10000	2,090,000		

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR										
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School		
111	310501218	Bo District Education Committee Primary School	South	BO District	Bumpe	Niagorehun Sobbie	115	10000	1,150,000		
112	311401233	Bo District Education Committee Primary School	South	BO District	Valunia	Njagbema Tambie	246	10000	2,460,000		
113	311101216	Bo District Education Committee Primary School	South	BO District	Niawa Lenga	Nyadeyama	298	10000	2,980,000		
114	311401225	Bo District Education Committee Primary School	South	BO District	Valunia	Pelewahun 1	105	10000	1,050,000		
115	310901225	Bo District Education Committee Primary School	South	BO District	Komboya	Pelewahun li	249	10000	2,490,000		
116	310702102	Bo District Education Committee Primary School	South	BO District	Jaiama	Samie	200	10000	2,000,000		
117	310403204	Bo District Education Committee Primary School	South	BO District	Baoma	Sawulla	188	10000	1,880,000		
118	310501220	Bo District Education Committee Primary School	South	BO District	Bumpe Ngao	Sembehun Jxn	180	10000	1,800,000		
119	310501221	Bo District Education Committee Primary School	South	BO District	Bumpe	Solima	171	10000	1,710,000		
120	310502218	Bo District Education Committee Primary School	South	BO District	Bumpe Ngao	Taninahun	232	10000	2,320,000		
121	311101225	Bo District Education Committee Primary School	South	BO District	Niawa Lenga	Tondorya	195	10000	1,950,000		
122	311301233	Bo District Education Committee Primary School	South	BO District	Tikonko	Toubu	219	10000	2,190,000		
123	310202218	Bo District Education Committee Primary School	South	BO District	Bagbo	Yenkein	101	10000	1,010,000		
124	319103222	Bo District Education Committee Primary School Lower	South	BO District	Kakua	Main Sewa Road	280	10000	2,800,000		
125	319103204	Bo District Education Committee Primary School Lower	South	BO District	Bo City	New Gerihun Road	631	10000	6,310,000		
126	319101243	Bo District Education Committee Primary School Lower	South	BO District	Bo City	Njai Town	217	10000	2,170,000		
127	319103223	Bo District Education Committee Primary School Upper	South	BO District	Bo City	New Gerihun Road	719	10000	7,190,000		
128	319101257	Bo District Education Committee Primary School Upper	South	BO District	Bo City	Njai Town	264	10000	2,640,000		
129	310802217	Bo District Education Committee Primary School Upper	South	BO District	Bo City	Upper Mainsewa Road	345	10000	3,450,000		
130	310803213	Bo District Education Committee Primry School	South	BO District	Kakua	Tongie	106	10000	1,060,000		
131	310202210	Bo District Education Council Primary	South	BO District	Bagbo	Mano Yorgbor	521	10000	5,210,000		
132	99999999	Bo District Education Council Primary	South	BO District	Jaiama	Pelewahun	324	10000	3,240,000		

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR										
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School		
133	319101246	Bo Municipal Primary School	South	BO District	Kakua	Bandajuma Layout	187	10000	1,870,000		
134	319103238	Bo Municipal Primary School	South	BO District	Bo City	Kandeh Town	445	10000	4,450,000		
135	310802211	Children Outreach Primary School	South	BO District	Kakua	Gbondo Town	404	10000	4,040,000		
136	310801224	Christ Evangelical Community Primary School	South	BO District	Kakua	New York Section	370	10000	3,700,000		
137	310803217	Christ Harvester Ministry Primary School	South	BO District	Kakua	Dandabu	293	10000	2,930,000		
138	310803207	Christ Harvester'S Primary School	South	BO District	Kakua	Kalia	183	10000	1,830,000		
139	310803203	Christ Is The Answer Mission Primary School	South	BO District	Kakua	Bevehun,Bo	116	10000	1,160,000		
140	310802208	Christ Is The Answer Mission Primary School	South	BO District	Kakua	Gambia	250	10000	2,500,000		
141	310803208	Christ Is The Answer Mission Primary School	South	BO District	Kakua	Kigbai	304	10000	3,040,000		
142	310404211	Christ Is The Answer Mission Primary School	South	BO District	Baoma	Matema	297	10000	2,970,000		
143	311401202	Christian Community Primary School	South	BO District	Valunia	Baomahun	465	10000	4,650,000		
144	319101213	Church Of Christ Primary School Lower	South	BO District	Bo City	7 Macrobert St. Bo	157	10000	1,570,000		
145	319102204	Church Of Christ Primary School Upper	South	BO District	Bo City	6 Macrobert St. Bo	97	10000	970,000		
146	319103320	Convenant International Academy Primary School	South	BO District	Kakua	Jabba Town	161	10000	1,610,000		
147	319101217	Dorcas Primary School	South	BO District	Kakua	Ngalu Road	308	10000	3,080,000		
148	310801202	Ebert Kakua School For The Deaf	South	BO District	Kakua	New York	126	10000	1,260,000		
149	311302204	Every Nation Academy Primary School	South	BO District	Tikonko	Gondama	314	10000	3,140,000		
150	410901228	Every Nation Academy Primary School	South	BO District	Kakua	Kebbie Town	325	10000	3,250,000		
151	311302207	Every Nation Academy Primary School	South	BO District	Tikonko	Lembema 11	102	10000	1,020,000		
152	319103292	Faith Alive International Academy Primary School	South	BO District	Kakua	Johnny Layout	63	10000	630,000		
153	319103293	Faith International Academy Primary School	South	BO District	Kakua	Gbondo Town, Kendevama	87	10000	870,000		
154	319101261	Faith Modern Academy Primary School	South	BO District	Kakua	Bo #2 Ext	187	10000	1,870,000		

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR											
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School			
155	310801256	Falaba Community Primary School	South	BO District	Kakua	Falaba	239	10000	2,390,000			
156	319101260	First Baptist Primary School	South	BO District	Kakua	Damballa Road	150	10000	1,500,000			
157	319101219	Forum For African Women Educationist Primary School For Girl	South	BO District	Kakua	Kortugbuma	260	10000	2,600,000			
158	319101241	Gateway International Academy Primary School	South	BO District	Kakua	Lawabu	202	10000	2,020,000			
159	319103252	Glory Assembly Primary School	South	BO District	Kakua	Torkpoi Town	269	10000	2,690,000			
160	411401270	God Is Our Light International Academy Primary School	South	BO District	Kakua	Koribondo Highway	332	10000	3,320,000			
161	319102243	God'S Way Pre & Primary School	South	BO District	Kakua	Kennedy	276	10000	2,760,000			
162	319102219	Grace Academy Primary	South	BO District	Kakua	New York Section	320	10000	3,200,000			
163	311302220	Hamza Islamic Primary School	South	BO District	Tikonko	Gondama	106	10000	1,060,000			
164	311302220	Hamza Islamic Primary School	South	BO District	Niawa Lenga	Korbu	260	10000	2,600,000			
165	311101218	Hamza Islamic Primary School	South	BO District	Niawa Lenga	Sahn	223	10000	2,230,000			
166	310502214	Holy Rosary Primary	South	BO District	Bumpe Ngao	Serabu	480	10000	4,800,000			
167	319101202	Holy Rosary Primary School	South	BO District	Kakua	Mahei Boima Rd Bo	1027	10000	10,270,000			
168	319103324	Hope Glory Foundation Academy Primary School	South	BO District	Tikonko	Hill Cut, Kendeyeilla	295	10000	2,950,000			
169	319103240	Hope Primary School	South	BO District	Kakua	Morfindor Town	225	10000	2,250,000			
170	319101249	Hope Royal Primary School	South	BO District	Kakua	Madina	301	10000	3,010,000			
171	419101267	Huzzy Primary School	South	BO District	Kakua	Battiama Layout	250	10000	2,500,000			
172	319103337	Ibra Saf Educational Garden Primary School	South	BO District	Tikonko	Gbewobu	144	10000	1,440,000			
173	319103208	Islamic Action Group Primary	South	BO District	Bo City	B Line Off Sewa Road, Bo Hannah	415	10000	4,150,000			
174	319103275	Islamic Action Group Primary	South	BO District	Bo City	Hannah Street, Maniama, Bo	271	10000	2,710,000			
175	319103249	Islamic Action Group Primary School	South	BO District	Kakua	Messima	343	10000	3,430,000			
176	311301223	Islamic Action Group Primary School	South	BO District	Tikonko	Samie 111	440	10000	4,400,000			

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR											
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School			
177	310702211	Islamic Call Society Primary	South	BO District	Jaiama	Koribondo	447	10000	4,470,000			
178	310202215	Islamic Call Society Primary	South	BO District	Bagbo	Niagorehun	431	10000	4,310,000			
179	310402206	Islamic Call Society Primary	South	BO District	Baoma	Yamandu	495	10000	4,950,000			
180	310501223	Islamic Call Society Primary	South	BO District	Bumpe Ngao	Yonnie	117	10000	1,170,000			
181	310701201	Islamic Call Society Primary School	South	BO District	Bongor	Baomahun	250	10000	2,500,000			
182	310802213	Islamic Call Society Primary School	South	BO District	Kakua	Durbar Ground	472	10000	4,720,000			
183	310401201	Islamic Call Society Primary School	South	BO District	Baoma	Fayama	122	10000	1,220,000			
184	319103224	Islamic Call Society Primary School	South	BO District	Kakua	Gbanja Town	276	10000	2,760,000			
185	319101254	Islamic Call Society Primary School	South	BO District	Kakua	Goba Town	304	10000	3,040,000			
186	310401203	Islamic Call Society Primary School	South	BO District	Baoma	Gollu	330	10000	3,300,000			
187	310401204	Islamic Call Society Primary School	South	BO District	Baoma	Gualla	171	10000	1,710,000			
188	319103210	Islamic Call Society Primary School	South	BO District	Kakua	Johnny Layout	250	10000	2,500,000			
189	310401214	Islamic Call Society Primary School	South	BO District	Baoma	Konia	230	10000	2,300,000			
190	310702214	Islamic Call Society Primary School	South	BO District	Bongor	Kpakuma	288	10000	2,880,000			
191	310401205	Islamic Call Society Primary School	South	BO District	Baoma	Kpatobu	176	10000	1,760,000			
192	310202209	Islamic Call Society Primary School	South	BO District	Bagbo	Mandu 1	309	10000	3,090,000			
193	310404214	Islamic Call Society Primary School	South	BO District	Baoma	Ngendema	140	10000	1,400,000			
194	310403211	Islamic Call Society Primary School	South	BO District	Baoma	Pelewahun Ngiebu	260	10000	2,600,000			
195	419101280	Islamic Call Society Primary School	South	BO District	Kakua	Railway Quarters,Mor iha	111	10000	1,110,000			
196	311002210	Islamic Call Society Primary School	South	BO District	Lugbu	Sumbuya	554	10000	5,540,000			
197	311001203	Islamic Call Society Primary School Upper	South	BO District	Lugbu	Bontiwo	252	10000	2,520,000			
198	310202211	Islamic Call Sociey Primary	South	BO District	Bagbo	Mano Yorgbor	198	10000	1,980,000			

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR										
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School		
199	319101222	Islamic Welfare Union Primary School	South	BO District	Bo City	Komende	285	10000	2,850,000		
200	319103266	Jefferson Baptist Primary School	South	BO District	Bo City	Tengbewabu	426	10000	4,260,000		
201	319103307	Jesfadmed International Academy Primary School	South	BO District	Kakua	Nyargolihun, Kenema Highway	434	10000	4,340,000		
202	310801243	Joy Academy Primary School	South	BO District	Kakua	Baiima Lane	136	10000	1,360,000		
203	310503205	Kankaylay Islamic Primaray School	South	BO District	Bumpe Ngao	Mowoto Titima	250	10000	2,500,000		
204	310503208	Kankaylay Islamic Primary School	South	BO District	Bumpe Ngao	Mokpendeh	318	10000	3,180,000		
205	311303212	Kankaylay Islamic Primary School	South	BO District	Tikonko	Sebemhun 17 Ns	112	10000	1,120,000		
206	311002211	Kankaylay Islamic Primary School	South	BO District	Lugbu	Sumbuya	296	10000	2,960,000		
207	310501224	Kankaylay Islamic Primary School	South	BO District	Bumpe	Tissana	176	10000	1,760,000		
208	310802221	Kirk And Jan Primary School	South	BO District	Kakua	Baiima Road	133	10000	1,330,000		
209	311002292	Kuadima Community Primary School	South	BO District	Lugbu	Kuadima	260	10000	2,600,000		
210	319103327	Liberty Academy Primary School	South	BO District	Tikonko	New England Ville Kaindevela	100	10000	1,000,000		
211	319101203	Lina Primary School	South	BO District	Kakua	Bo No2 Ext Alfred Street	289	10000	2,890,000		
212	319103218	Logos Experimental Primary School	South	BO District	Kakua	Kowama Lane	231	10000	2,310,000		
213	311301245	Madina Islamic Primary School	South	BO District	Tikonko	Samie 1	682	10000	6,820,000		
214	319103306	Marina'S Primary School	South	BO District	Kakua	Batiama	238	10000	2,380,000		
215	319102222	Martin Luther Memorial Primary School	South	BO District	Bo City	7 Momoh Foh St. Kennedy	290	10000	2,900,000		
216	319101204	Martin Luther Primary School	South	BO District	Kakua	Bo No2 Extension	449	10000	4,490,000		
217	310402202	Martin Luther Primary School	South	BO District	Baoma	Kortumahun	226	10000	2,260,000		
218	319102206	Mentally Retarded Children Primary School	South	BO District	Bo City	Coronation Field	49	10000	490,000		
219	310201202	Methodist Primary School	South	BO District	Bagbo	Deima	338	10000	3,380,000		
220	311301206	Methodist Primary School	South	BO District	Tikonko	Dodo	53	10000	530,000		

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR										
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School		
221	310501209	Methodist Primary School	South	BO District	Bumpe Ngao	Foya	206	10000	2,060,000		
222	311303201	Methodist Primary School	South	BO District	Tikonko	Geima	318	10000	3,180,000		
223	311301208	Methodist Primary School	South	BO District	Tikonko	Gelehun	318	10000	3,180,000		
224	310202202	Methodist Primary School	South	BO District	Bagbo	Jimmi	169	10000	1,690,000		
225	310201206	Methodist Primary School	South	BO District	Bagbo	Momajoe	374	10000	3,740,000		
226	310802201	Methodist Primary School	South	BO District	Bo City	Nduvibu	213	10000	2,130,000		
227	319103242	Methodist Primary School	South	BO District	Kakua	New Gerihun Road	150	10000	1,500,000		
228	311302212	Methodist Primary School	South	BO District	Tikonko	Ngolahun	268	10000	2,680,000		
229	311301217	Methodist Primary School	South	BO District	Tikonko	Niama	118	10000	1,180,000		
230	311303205	Methodist Primary School	South	BO District	Tikonko	Nyandeyama	138	10000	1,380,000		
231	311303206	Methodist Primary School	South	BO District	Tikonko	Sembeehun - 17	304	10000	3,040,000		
232	311002212	Methodist Primary School	South	BO District	Lugbu	Sumbuya	450	10000	4,500,000		
233	311301229	Methodist Primary School	South	BO District	Tikonko	Tikonko Town	320	10000	3,200,000		
234	311001212	Methodist Primary School	South	BO District	Lugbu	Upper Saama	159	10000	1,590,000		
235	319101223	Methodist Primary School Lower	South	BO District	Kakua	Mission Road	437	10000	4,370,000		
236	319102223	Methodist Primary School Upper	South	BO District	Bo City	Mission Road	442	10000	4,420,000		
237	319103312	Molai Memorial Pre & Primary School	South	BO District	Kakua	Johnny Layout	149	10000	1,490,000		
238	310802203	Mount Hored Primary School	South	BO District	Kakua	Kpetema	411	10000	4,110,000		
239	319103225	Mount Zion Primary School	South	BO District	Bo City	Tengbewabu	425	10000	4,250,000		
240	319102224	Mukeh Tiwa Primary School	South	BO District	Kakua	Bongay Street	118	10000	1,180,000		
241	319102225	Mukeh Tiwa Primary School	South	BO District	Kakua	Kandeh Town	350	10000	3,500,000		
242	310702212	Muloma Maada Bio Primary School	South	BO District	Jaiama	Koribondo	180	10000	1,800,000		

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR											
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School			
243	310101208	Namya Islamic Primary	South	BO District	Badjia	Ngelehun	201	10000	2,010,000			
244	310801208	Namya Islamic Primary School	South	BO District	Kakua	Kpanguma	240	10000	2,400,000			
245	310501213	Namya Islamic Primary School	South	BO District	Bumpe Ngao	Kpetema	250	10000	2,500,000			
246	311303203	Namya Islamic Primary School	South	BO District	Tikonko	Mamboima	182	10000	1,820,000			
247	77777777	Namya Islamic Primary School Lower	South	BO District	Kakua	New Gerihun Road,Kortum ahun Layout	646	10000	6,460,000			
248	319103287	Namya Islamic Primary School Lower	South	BO District	Bo City	Ngieya Road	242	10000	2,420,000			
249	319101205	Namya Islamic Primary School Upper	South	BO District	Kakua	Ngieya Road	248	10000	2,480,000			
250	310803204	National Islamic Primary	South	BO District	Kakua	Fallu	328	10000	3,280,000			
251	310801207	National Islamic Primary	South	BO District	Kakua	Gbongboma	206	10000	2,060,000			
252	310502207	National Islamic Primary	South	BO District	Bumpe Ngao	Kpetewoma	233	10000	2,330,000			
253	310502215	National Islamic Primary	South	BO District	Bumpe Ngao	Serabu	337	10000	3,370,000			
254	310201213	National Islamic Primary School	South	BO District	Bagbo	Dandabu	116	10000	1,160,000			
255	310801206	National Islamic Primary School	South	BO District	Kakua	Fallah	110	10000	1,100,000			
256	310401211	National Islamic Primary School	South	BO District	Baoma	Gerihun,Bam bawo Section	527	10000	5,270,000			
257	319102240	National Islamic Primary School	South	BO District	Bo City	Kennedy	523	10000	5,230,000			
258	310801251	National Islamic Primary School	South	BO District	Kakua	Manjama	151	10000	1,510,000			
259	319102226	National Islamic Primary School	South	BO District	Kakua	Musa Street Kennedy	214	10000	2,140,000			
260	310701218	National Islamic Primary School	South	BO District	Bongor	Ngogbebu	134	10000	1,340,000			
261	310801240	National Islamic Primary School	South	BO District	Bo City	Old Barracks	403	10000	4,030,000			
262	319103338	Nations Evangelistic Ministry Academy Primary School	South	BO District	Kakua	Bo/Kenema Highway, Giema	250	10000	2,500,000			
263	319103284	Nematulai Islamic Primary School	South	BO District	Kakua	Njai Town	255	10000	2,550,000			
264	310801220	New Apostolic Primary School	South	BO District	Kakua	Reservation	116	10000	1,160,000			

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR										
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School		
265	310802202	New Harvest Christian Primary School	South	BO District	Kakua	Gbanahun	76	10000	760,000		
266	319103316	New Harvest Christian Primary School	South	BO District	Kakua	J Quarters Mattru Rd	270	10000	2,700,000		
267	310301225	New Harvest Christian Primary School	South	BO District	Bagbwe	Mano Pendurbu	73	10000	730,000		
268	310801209	New Harvest Christian Primary School	South	BO District	Kakua	Pindegumah un	379	10000	3,790,000		
269	310701212	New Harvest Christian Primary School	South	BO District	Bongor	Sulehun	166	10000	1,660,000		
270	310503250	New Harvest Primary School	South	BO District	Bumpe	Mojiba	76	10000	760,000		
271	311301220	New Harvest Primary School	South	BO District	Tikonko	Samie 1	426	10000	4,260,000		
272	319103267	New Life Christian Primary School	South	BO District	Kakua	Maria Street	504	10000	5,040,000		
273	319101256	New Life International Academy Primary School	South	BO District	Kakua	Simbo Town	340	10000	3,400,000		
274	311401222	Njalihun Community Primary School	South	BO District	Valunia	Njalihun	217	10000	2,170,000		
275	319103319	Overcomers Primary School	South	BO District	Kakua	New England Ville	122	10000	1,220,000		
276	319101263	Panorama Primary School	South	BO District	Kakua	Baiima Road	266	10000	2,660,000		
277	319101208	Paul School For The Blind	South	BO District	Bo City	Baiima Road	27	10000	270,000		
278	999999999	Peevic Aviation And Management Academy	South	BO District	Tikonko	Torwama Road	130	10000	1,300,000		
279	419101260	Peter'S Memorial Primary School	South	BO District	Kakua	Kendeyama Road	218	10000	2,180,000		
280	311301246	Philomath Primary School	South	BO District	Tikonko	Johnny Layout	285	10000	2,850,000		
281	319101224	Quaranic Education Primary School For Girls	South	BO District	Bo City	Madina	366	10000	3,660,000		
282	310801264	Quranic Education Primary School	South	BO District	Kakua	Ngalu Road	315	10000	3,150,000		
283	319101225	Quranic Education Primary School For Boys	South	BO District	Kakua	Madina	344	10000	3,440,000		
284	319103315	Rabieu Islamic Primary School	South	BO District	Kakua	Shellmingo, Manjma	90	10000	900,000		
285	310401212	Roman Catholic Boys Primary School	South	BO District	Baoma	Gerihun	280	10000	2,800,000		
286	310401222	Roman Catholic Girls Primary School	South	BO District	Baoma	Gerihun	400	10000	4,000,000		

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR										
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School		
287	310801227	Roman Catholic Madonna Girls Primary School	South	BO District	Bo City	Kennedy	500	10000	5,000,000		
288	319102229	Roman Catholic Model Primary School Lower	South	BO District	Bo City	New Gerihun Road	587	10000	5,870,000		
289	319102230	Roman Catholic Model Primary School Upper	South	BO District	Bo City	New Gerihun Road	517	10000	5,170,000		
290	310702203	Roman Catholic Primary	South	BO District	Bongor	Bendu	156	10000	1,560,000		
291	310501204	Roman Catholic Primary	South	BO District	Bumpe Ngao	Bumpe	220	10000	2,200,000		
292	311201201	Roman Catholic Primary	South	BO District	Selenga	Damballa	252	10000	2,520,000		
293	310404208	Roman Catholic Primary	South	BO District	Baoma	Foindu	167	10000	1,670,000		
294	310701202	Roman Catholic Primary	South	BO District	Bongor	Gbaama	280	10000	2,800,000		
295	310901202	Roman Catholic Primary	South	BO District	Komboya	Gbamanjama	125	10000	1,250,000		
296	311401206	Roman Catholic Primary	South	BO District	Valunia	Gorahun	117	10000	1,170,000		
297	310901205	Roman Catholic Primary	South	BO District	Komboya	Gumahun	273	10000	2,730,000		
298	310701207	Roman Catholic Primary	South	BO District	Bongor	Lowoma	320	10000	3,200,000		
299	310701208	Roman Catholic Primary	South	BO District	Bongor	Mamboma	190	10000	1,900,000		
300	311401219	Roman Catholic Primary	South	BO District	Valunia	Mandu	184	10000	1,840,000		
301	310402209	Roman Catholic Primary	South	BO District	Baoma	Mbundorbu	293	10000	2,930,000		
302	311401223	Roman Catholic Primary	South	BO District	Valunia	Njopowahun	143	10000	1,430,000		
303	310101213	Roman Catholic Primary	South	BO District	Badjia	Nomiama	339	10000	3,390,000		
304	310503213	Roman Catholic Primary	South	BO District	Bumpe Ngao	Sahn	260	10000	2,600,000		
305	310502216	Roman Catholic Primary	South	BO District	Bumpe Ngao	Taninahun	262	10000	2,620,000		
306	310701213	Roman Catholic Primary	South	BO District	Bongor	Telu	259	10000	2,590,000		
307	310502220	Roman Catholic Primary	South	BO District	Bumpe Ngao	Yengema	226	10000	2,260,000		
308	310803201	Roman Catholic Primary School	South	BO District	Kakua	Bandajuma	160	10000	1,600,000		

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR										
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School		
309	311301203	Roman Catholic Primary School	South	BO District	Tikonko	Barlie	150	10000	1,500,000		
310	310502202	Roman Catholic Primary School	South	BO District	Bumpe Ngao	Bongor	199	10000	1,990,000		
311	310601203	Roman Catholic Primary School	South	BO District	Gbo	Dodo	256	10000	2,560,000		
312	310401216	Roman Catholic Primary School	South	BO District	Baoma	Faabu	96	10000	960,000		
313	311002203	Roman Catholic Primary School	South	BO District	Lugbu	Feiba	315	10000	3,150,000		
314	310803205	Roman Catholic Primary School	South	BO District	Kakua	Fengehun	300	10000	3,000,000		
315	310601202	Roman Catholic Primary School	South	BO District	Gbo	Gbaima	244	10000	2,440,000		
316	310601204	Roman Catholic Primary School	South	BO District	Gbo	Gbandi	210	10000	2,100,000		
317	311201204	Roman Catholic Primary School	South	BO District	Selenga	Gbangba	202	10000	2,020,000		
318	310701203	Roman Catholic Primary School	South	BO District	Jaiama	Gordi	108	10000	1,080,000		
319	310401218	Roman Catholic Primary School	South	BO District	Baoma	Jormu	217	10000	2,170,000		
320	310401207	Roman Catholic Primary School	South	BO District	Baoma	Kanjalu	163	10000	1,630,000		
321	310501212	Roman Catholic Primary School	South	BO District	Bumpe	Korwama	171	10000	1,710,000		
322	310210012	Roman Catholic Primary School	South	BO District	Lugbu	Kpetewoma	275	10000	2,750,000		
323	310402210	Roman Catholic Primary School	South	BO District	Baoma	Kpumbu	152	10000	1,520,000		
324	310401209	Roman Catholic Primary School	South	BO District	Baoma	Kwellu	163	10000	1,630,000		
325	310802204	Roman Catholic Primary School	South	BO District	Kakua	Largoh	143	10000	1,430,000		
326	311002205	Roman Catholic Primary School	South	BO District	Lugbu	Lower Saama	277	10000	2,770,000		
327	311302208	Roman Catholic Primary School	South	BO District	Tikonko	Magbema	195	10000	1,950,000		
328	310803211	Roman Catholic Primary School	South	BO District	Kakua	Manguama	187	10000	1,870,000		
329	311301215	Roman Catholic Primary School	South	BO District	Tikonko	Mattru -On- The-Rail	158	10000	1,580,000		
330	310101209	Roman Catholic Primary School	South	BO District	Badjia	Ngelehun	376	10000	3,760,000		

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR										
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School		
331	311101214	Roman Catholic Primary School	South	BO District	Niawa Lenga	Njagbema	236	10000	2,360,000		
332	310803212	Roman Catholic Primary School	South	BO District	Kakua	Nyandehun	210	10000	2,100,000		
333	311101219	Roman Catholic Primary School	South	BO District	Niawa Lenga	Sahn	206	10000	2,060,000		
334	310402208	Roman Catholic Primary School	South	BO District	Baoma	Taninahun	160	10000	1,600,000		
335	310701216	Roman Catholic Primary School	South	BO District	Bongor	Yabaima	190	10000	1,900,000		
336	310404207	Roman Catholic Primary School	South	BO District	Baoma	Yakaji	36	10000	360,000		
337	310502216	Roman Catholic Primary School	South	BO District	Baoma	Yamandu	285	10000	2,850,000		
338	311002214	Roman Catholic Primary School	South	BO District	Lugbu	Yambama	250	10000	2,500,000		
339	310301221	Roman Catholics Primary School	South	BO District	Bagbwe(B agbe)	Gbama Yandiama	142	10000	1,420,000		
340	310901208	Roman Catholics Primary School	South	BO District	Komboya	Njala	266	10000	2,660,000		
341	319103305	Royal Grace Academy Primary School	South	BO District	Kakua	Gbitima	350	10000	3,500,000		
342	319103331	Royal International Academy Primary School	South	BO District	Tikonko	New England Vill	360	10000	3,600,000		
343	310502217	Sacred Heart Roman Catholic Primary	South	BO District	Bumpe Ngao	Serabu	534	10000	5,340,000		
344	319103336	Sahr Filo Academy Primary School	South	BO District	Tikonko	New England Ville	563	10000	5,630,000		
345	311302206	Saint Augustine'S Services Primary School	South	BO District	Tikonko	Gondama	230	10000	2,300,000		
346	310901219	Saint Benedict Primary	South	BO District	Komboya	Teibor	217	10000	2,170,000		
347	319103227	Saint Charles Lwanga Primary School	South	BO District	Bo City	C-Line Njai Town	790	10000	7,900,000		
348	311301214	Saint Charles Roman Catholic Primary	South	BO District	Tikonko	Lembema	322	10000	3,220,000		
349	319102231	Saint Francis Primary Lower	South	BO District	Bo City	Komende	578	10000	5,780,000		
350	419101273	Saint Francis Primary School Upper	South	BO District	Kakua	Komende	660	10000	6,600,000		
351	310404215	Saint Gallen Primary School	South	BO District	Baoma	Ndogbogoma	130	10000	1,300,000		
352	310301214	Saint John Bosco, Roman Catholic Primary	South	BO District	Bagbwe(B agbe)	Mendewa	266	10000	2,660,000		

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR										
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School		
353	310503201	Saint John Roman Catholic Primary School	South	BO District	Bumpe Ngao	Buma Serabu	170	10000	1,700,000		
354	310503218	Saint Joseph Roman Catholic Primary	South	BO District	Bumpe Ngao	Walihun	385	10000	3,850,000		
355	319103228	Saint Jude'S Model Academy Primary School	South	BO District	Kakua	Kindia Town	502	10000	5,020,000		
356	310702213	Saint Michael'S Primary	South	BO District	Jaiama	Koribondo	385	10000	3,850,000		
357	319101226	Saint Peter'S Primary School	South	BO District	Bo City	Bo No2	981	10000	9,810,000		
358	310301217	Saint Peters Roman Catholic Primary	South	BO District	Bagbwe(B agbe)	Ngalu	275	10000	2,750,000		
359	319102209	Saint Pius Primary School	South	BO District	Bo City	Njagboima	411	10000	4,110,000		
360	319103213	Saint Theresa Police Primary	South	BO District	Bo City	New Police Barrack	450	10000	4,500,000		
361	310301201	Saint Theresa Roman Catholic Primary School	South	BO District	Bagbwe	Balie	243	10000	2,430,000		
362	311401226	Samuel Hinga Norman Memorial Primary School	South	BO District	Valunia	Pelewahun li	155	10000	1,550,000		
363	311301216	Seventh Day Adventist Pilot Primary School	South	BO District	Tikonko	Mattru -On- The-Rail	262	10000	2,620,000		
364	310801238	Seventh Day Adventist Primary School	South	BO District	Kakua	New York	420	10000	4,200,000		
365	311101207	Seventh Day Adventist Primary School	South	BO District	Niawa Lenga	Kpar	105	10000	1,050,000		
366	311101212	Seventh Day Adventist Primary School	South	BO District	Niawa Lenga	Nengbema	272	10000	2,720,000		
367	319102248	Seventh Day Adventist Primary School Lower	South	BO District	Bo City	Ngalu Road	495	10000	4,950,000		
368	319101209	Seventh Day Adventist Primary School Upper	South	BO District	Bo City	Ngalu Road	630	10000	6,300,000		
369	311201202	Seventh Days Adventist Primary School	South	BO District	Selenga	Damballa	311	10000	3,110,000		
370	319103229	Seventh Days Adventist Primary School	South	BO District	Bo City	Kandeh Town	264	10000	2,640,000		
371	311101220	Seventh Days Adventist Primary School	South	BO District	Niawa Lenga	Sahn	194	10000	1,940,000		
372	319102246	Sierra Leone Church Primary School	South	BO District	Kakua	Coronation Field	353	10000	3,530,000		
373	311101203	Sierra Leone Church Primary School	South	BO District	Niawa Lenga	Gogbebu	198	10000	1,980,000		
374	311101221	Sierra Leone Church Primary School	South	BO District	Niawa Lenga	Sahn	189	10000	1,890,000		

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR										
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School		
375	319101228	Sierra Leone Church Primary School Lower	South	BO District	Bo City	Damballa Road	631	10000	6,310,000		
376	319101229	Sierra Leone Church Primary School Upper	South	BO District	Kakua	Damballa Road	645	10000	6,450,000		
377	319103248	Sierra Leone Islamic Union Mission Primary	South	BO District	Kakua	Fulawahun	295	10000	2,950,000		
378	310202219	Sierra Leone Muslim Brotherhood	South	BO District	Bagbo	Kakama	174	10000	1,740,000		
379	319103291	Sierra Leone Muslim Brotherhood	South	BO District	Bo City	New Police Barrack	539	10000	5,390,000		
380	310801225	Sierra Leone Muslim Brotherhood Primary Lower	South	BO District	Bo City	Nikibu	136	10000	1,360,000		
381	310202201	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Bagbo	Bandajuma	189	10000	1,890,000		
382	311301211	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Tikonko	Baoma	228	10000	2,280,000		
383	319103253	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Kakua	Batiama	367	10000	3,670,000		
384	319102232	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Kakua	Coronation Field	351	10000	3,510,000		
385	310401202	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Baoma	Feiba	170	10000	1,700,000		
386	310501207	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Bumpe	Fewanemah	27	10000	270,000		
387	311301207	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Tikonko	Gaula	248	10000	2,480,000		
388	310601201	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Gbo	Gbaima	115	10000	1,150,000		
389	310404204	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Baoma	Gbangba	265	10000	2,650,000		
390	310702206	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Jaiama	Gbangema	242	10000	2,420,000		
391	310901209	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Komboya	Gbaujah	78	10000	780,000		
392	311001205	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Lugbu	Gelehun	185	10000	1,850,000		
393	311301209	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Tikonko	Gelehun	195	10000	1,950,000		
394	311301234	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Tikonko	Gendema	125	10000	1,250,000		
395	311001215	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Lugbu	Gondama	140	10000	1,400,000		
396	310502204	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Bumpe	Gondama Ngonbi	61	10000	610,000		

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR										
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School		
397	310502223	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Bumpe	Hanhga	111	10000	1,110,000		
398	311001206	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Lugbu	Hiima	244	10000	2,440,000		
399	311301230	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Tikonko	Kendeyella	260	10000	2,600,000		
400	310404210	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Baoma	Kenyema	169	10000	1,690,000		
401	310202205	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Bagbo	Kpetewoma	99	10000	990,000		
402	319103243	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Bo City	Lawabu	281	10000	2,810,000		
403	311302209	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Tikonko	Magbema	261	10000	2,610,000		
404	310701209	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Bongor	Mamboma	482	10000	4,820,000		
405	310701210	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Bongor	Mendekelem a	209	10000	2,090,000		
406	310201207	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Bagbo	Mondorkor	112	10000	1,120,000		
407	319103271	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Bo City	Nduvuibi Section, Bo.	580	10000	5,800,000		
408	310801204	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Kakua	New York	330	10000	3,300,000		
409	311001214	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Lugbu	Ngeiyehun	210	10000	2,100,000		
410	310502212	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Bumpe	Ngiyegboiya	264	10000	2,640,000		
411	310501219	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Bumpe	Pelewahun	44	10000	440,000		
412	310502213	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Bumpe Ngao	Pelewahun Gambilahun	164	10000	1,640,000		
413	311301225	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Tikonko	Sembehun Kokofele	410	10000	4,100,000		
414	311002213	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Lugbu	Tawamahehu n	336	10000	3,360,000		
415	310701214	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Bongor	Telu	223	10000	2,230,000		
416	319103231	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Bo City	Tengbewabu	315	10000	3,150,000		
417	311301230	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Tikonko	Tikonko Town	143	10000	1,430,000		
418	311001213	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Lugbu	Upper Saama	268	10000	2,680,000		

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR										
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School		
419	310701217	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Bongor	Yeima	103	10000	1,030,000		
420	310702219	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Jaiama	Yendema	79	10000	790,000		
421	311302214	Sierra Leone Muslim Brotherhood Primary School	South	BO District	Tikonko	Yengesa	160	10000	1,600,000		
422	310801211	Sierra Leone Muslim Brotherhood Primary School Lower	South	BO District	Kakua	Dodo	510	10000	5,100,000		
423	310801255	Sierra Leone Muslim Brotherhood Primary School Upper	South	BO District	Bo City	Bumpewo	467	10000	4,670,000		
424	310801212	Sierra Leone Muslim Brotherhood Primary School Upper	South	BO District	Kakua	Dodo	385	10000	3,850,000		
425	319102212	Sierra Leone Muslim Brotherhood Primary Upper	South	BO District	Bo City	Nikibu	246	10000	2,460,000		
426	310801234	Sierra Leone Muslim Community School	South	BO District	Bo City	Simbo Town	570	10000	5,700,000		
427	310801245	Sierra Leone United Islamic Mission	South	BO District	Kakua	Moriba Town	164	10000	1,640,000		
428	310201210	Sierra Leone United Islamic Mission	South	BO District	Bagbo	Yenshan	323	10000	3,230,000		
429	311302205	Sierra Leone United Islamic Mission Primary	South	BO District	Tikonko	Gondama	308	10000	3,080,000		
430	310201209	Sierra Leone United Islamic Mission Primary	South	BO District	Bagbo	Yegele	323	10000	3,230,000		
431	310803202	Sierra Leone United Islamic Mission Primary School	South	BO District	Kakua	Baoma Lungibu	158	10000	1,580,000		
432	311302213	Sierra Leone Youth Muslim Movement Primary	South	BO District	Tikonko	Ngolahun	185	10000	1,850,000		
433	310801250	Sierra Leone Youth Muslim Movement Primary School	South	BO District	Tikonko	New England Ville	573	10000	5,730,000		
434	311303209	Sierra Leone Youth Muslim Movement Primary School	South	BO District	Tikonko	Sembehun 17 Ns	289	10000	2,890,000		
435	311303208	Sierra Leone Youth Muslim Movement Primary School	South	BO District	Tikonko	Sembehun 17 Old Town	168	10000	1,680,000		
436	310803218	Sluim Primary School	South	BO District	Kakua	Njandama	210	10000	2,100,000		
437	319101245	St. Claire Primary School	South	BO District	Bo City	Boborkombo	168	10000	1,680,000		
438	311002220	St. Theresa Primary School	South	BO District	Lugbu	Sumbuya	448	10000	4,480,000		
439	310401221	Sunday Foundation Primary School	South	BO District	Baoma	Komende	165	10000	1,650,000		
440	310503205	Tablahun Community Primary School	South	BO District	Bumpe Ngao	Tablahun	193	10000	1,930,000		

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR										
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School		
441	310801249	Tauhid Islamic Primary School	South	BO District	Kakua	Kebbie Town	423	10000	4,230,000		
442	319103234	The Islamic Primary School	South	BO District	Kakua	Johnny St. Shellmingo	279	10000	2,790,000		
443	311301237	The Islamic Primary School	South	BO District	Tikonko	Kendeyella	298	10000	2,980,000		
444	319103258	Therenisa Memorial Primary School	South	BO District	Kakua	Ngalu Road	228	10000	2,280,000		
445	319102234	Tina Memorial Primary School	South	BO District	Kakua	Baiima Road	159	10000	1,590,000		
446	310801252	Togethers As One Primary School	South	BO District	Kakua	Manjama	305	10000	3,050,000		
447	78023351	Transformation Primary School	South	BO District	Gbo	Molende	52	10000	520,000		
448	319101231	Ummatul Islamic Primary School	South	BO District	Kakua	Bo No2 Ext	231	10000	2,310,000		
449	310803223	Ummatul Islamic Primary School	South	BO District	Kakua	Fala Gbofio	222	10000	2,220,000		
450	310803216	Ummatul Islamic Primary School	South	BO District	Kakua	Ngeihun	335	10000	3,350,000		
451	310803220	Ummatul Islamic Primary School	South	BO District	Gbo	Ngolala	40	10000	400,000		
452	319101230	Ummatul Primary	South	BO District	Bo City	Bo No2	225	10000	2,250,000		
453	310801205	United Brethren In Christ Jusu Memorial Primary School	South	BO District	Kakua	New London	236	10000	2,360,000		
454	310501201	United Brethren In Christ Primary School	South	BO District	Bumpe	Balehun	261	10000	2,610,000		
455	310501202	United Brethren In Christ Primary School	South	BO District	Bumpe Ngao	Belloh	106	10000	1,060,000		
456	310501205	United Brethren In Christ Primary School	South	BO District	Bumpe Ngao	Bumpe	282	10000	2,820,000		
457	319103301	United Brethren In Christ Primary School	South	BO District	Kakua	Isata St. Kennedy	225	10000	2,250,000		
458	310502206	United Brethren In Christ Primary School	South	BO District	Bumpe Ngao	Kagbaima	165	10000	1,650,000		
459	319103254	United Brethren In Christ Primary School	South	BO District	Kakua	Kandeh Town	465	10000	4,650,000		
460	310503204	United Brethren In Christ Primary School	South	BO District	Bumpe Ngao	Kania	152	10000	1,520,000		
461	310501214	United Brethren In Christ Primary School	South	BO District	Bumpe Ngao	Kpetema	192	10000	1,920,000		
462	310503206	United Brethren In Christ Primary School	South	BO District	Bumpe Ngao	Mofoi	182	10000	1,820,000		

	PAYMENT OF TUITION FEES TO PRIMARY SCHOOLS IN BO DISTRICT FOR SECOND TERM 2019/2020 SCHOOL YEAR											
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School			
463	310503207	United Brethren In Christ Primary School	South	BO District	Bumpe Ngao	Mokoba	332	10000	3,320,000			
464	310501217	United Brethren In Christ Primary School	South	BO District	Bumpe Ngao	Niagorehun	135	10000	1,350,000			
465	319102241	United Brethren In Christ Primary School Lower	South	BO District	Kakua	Prince Williams Street, Bo	415	10000	4,150,000			
466	310801226	United Brethren In Christ Primary School Upper	South	BO District	Bo City	Prince Williams Street Moriba	803	10000	8,030,000			
467	319101258	United Council Of Imams Primary School	South	BO District	Bo City	New Site	461	10000	4,610,000			
468	319103351	United Council Of Imams Primary School	South	BO District	Tikonko	Samie 1	204	10000	2,040,000			
469	310301202	United Methodist Church Primary	South	BO District	Bagbwe(B agbe)	Benduma	412	10000	4,120,000			
470	310802206	United Methodist Church Primary	South	BO District	Kakua	Fulawahun	150	10000	1,500,000			
471	311401214	United Methodist Church Primary	South	BO District	Valunia	Kpewama	82	10000	820,000			
472	310202216	United Methodist Church Primary	South	BO District	Bagbo	Senehun Ngola	234	10000	2,340,000			
473	310402207	United Methodist Church Primary	South	BO District	Baoma	Yamandu	353	10000	3,530,000			
474	310403205	United Methodist Church Primary School	South	BO District	Baoma	Baoma Station	219	10000	2,190,000			
475	310404202	United Methodist Church Primary School	South	BO District	Baoma	Jembe	309	10000	3,090,000			
476	310301211	United Methodist Church Primary School	South	BO District	Bagbwe	Kpetema Kemoh	246	10000	2,460,000			
477	311401221	United Methodist Church Primary School	South	BO District	Valunia	Monghere	150	10000	1,500,000			
478	310403209	United Methodist Church Primary School	South	BO District	Baoma	Pelewahun, Fallay Section	269	10000	2,690,000			
479	310403206	United Methodist Church Primary School	South	BO District	Baoma	Waiima	275	10000	2,750,000			
480	319103257	United Methodist Church Primary School Lower	South	BO District	Bo City	Messima, New Gerihun Rd	118	10000	1,180,000			
481	319103298	United Methodist Church Primary School Lower	South	BO District	Bo City	New Site	422	10000	4,220,000			
482	319103216	United Methodist Church Primary School Upper	South	BO District	Bo City	Messima, New Gerihun Rd	590	10000	5,900,000			
483	319103299	United Methodist Church Primary School Upper	South	BO District	Bo City	Njagboima	636	10000	6,360,000			
484	319103297	United Methodist Church Primary School Upper,	South	BO District	Bo City	New Site	430	10000	4,300,000			

	PAY	MENT OF TUITION FEES TO PRIMARY SCHOOLS IN	BO DIST	RICT FOR	SECOND	TERM 2019	/2020 SCH	OOL YEAR	1
NO.	EMIS	Name Of School	Region	District	Chiefdom	Address	Headcount	Amount Per Child	Total to School
485	319103283	United Methodist Primary School Lower	South	BO District	Bo City	Kulanda Town	385	10000	3,850,000
486	319103261	United Methodist Primary School Lower	South	BO District	Bo City	Njagboima	493	10000	4,930,000
487	319101234	United Methodist Primary School Upper	South	BO District	Bo City	Kulanda Town	385	10000	3,850,000
488	319101210	Young Muslim Primary	South	BO District	Kakua	Bo No. 2 Town	455	10000	4,550,000
489	319101236	Young Muslim Primary School	South	BO District	Kakua	Bo #2 Ext	736	10000	7,360,000
490	310401217	Young Muslim Primary School	South	BO District	Baoma	Kortumahun	186	10000	1,860,000
491	310702216	Young Muslim Primary School	South	BO District	Jaiama	Lungi	212	10000	2,120,000
492	319102237	Young Muslim Primary School	South	BO District	Kakua	Main Sewa Road	298	10000	2,980,000
493	319102238	Young Women Christiana Association Primary School	South	BO District	Kakua	Baiima Road	235	10000	2,350,000
494	319101266	Zahara Islamic Primary School	South	BO District	Kakua	Batiama	426	10000	4,260,000
495	319101266	Zahara Islamic Primary School	South	BO District	Kakua	Batiama	279	10000	2,790,000